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CwH 3.0 Multi-Step Equations

) Bx+S5=5x-10 20 3Bx+Y=Tx-12
3)  Tx+l=4x-9 H4) Zx+3=bx=-5
5) 7x -+ =5x-10 ) Bx+7 =Hx-9
7) 3% ~i0=9x +§ 8) I1Dx-S =9% +13

9) S+ ISk =30 +25x D) O +30x = %0 +35x
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Record your answer and fill in the bubbles
on the grid below. Be sure to use the correct

place value.
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The equation -3x <
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Which model below represents the solution to the equation?
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= -4x - 10 is shown in the rnodel. J
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Customers have two options when renting
video games from a renta! store. Plan'A
requires a $5 monthly fee and $1 per video
rental. Plan B requires an $8 monthly fee
and $0.75 per video rental. How many video
rentals would be required each month for the
plans to cost the same amount?

® 8 video rentals
10 video rentals
€ 12 video rentais

© 16 video rentals




